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H 7N A VA = A # i1 il & K

Hh X £ B = E HH ] X it HH ] = it HH
# A 14,003 14,579 28,582 12,895 572 697 1,269 846 14,575 15,276 29,851 13,510
5 1 1,435 1,503 2,938 1,154 5 17 22 15 1,440 1,520 2,960 1,158
ES = 3,136 3,334 6,470 2,661 60 79 139 103 3,196 3,413 6,609 2,733
F B 1,018 1,000 2,018 798 5 14 19 15 1,023 1,014 2,037 805
B & & 2,644 2,614 5,258 2,054 56 58 114 81 2,700 2,672 5,372 2,114
7 E i 3,036 3,073 6,109 2,740 55 87 142 111 3,091 3,160 6,251 2,803
iR i 2,793 2,811 5,604 2,273 49 79 128 115 2,842 2,890 5,732 2,364
= = BT 2,467 2,638 5,105 2,218 14 27 41 34 2,481 2,665 5,146 2,228
E =& 737 836 1,573 757 1 4 5 4 738 840 1,578 758
= it 31,269 32,388 63,657 27,550 817 1,062 1,879 1,324 32,086 33,450 65,536 28,473
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h A O ih A O i A O i A 0
R g | B % B g (B ger | 8 | = | i | t#% B R | 8 | & [ & g B ] S |
il X 875 910 1,785 846 EEFHILEX 159 167 326 137 HERX 292 306 598 246 N — X 198 224 422 165
W F X | 1,249 1,325 2,574 1,217( _ | 4t X 149 155 304 108 t #H X 339 309 648 275 INHZX 178 177 355 140
kR T X 232 257 489 267| = BHEK 116 137 253 106 R EBRX 273 288 561 214 L] INH=X 287 297 584 232
= H K| 1,626) 1,745 3,371 1,435 BHIAK 350 362 712 268 AERRX 15 13 148 68 IPHERX 668 677 1,345 638
7 BT X | 1,679 1,828 3,507 1,667 b2 ih X 477 500 977 382 = B B X 343 353 696 262 = RE X 450 429 879 367
IR X 228 237 465 220 2 | R X 189 199 388 157 TEREX 405 417 822 287 E N 385 405 790 289
== 20 22 42 17 HERX 254 252 506 195 EH 2 X 349 328 677 251
F R X 56 58 114 47 X 5t | 1,440| 1,520| 2,960| 1, 158 i REHEHX 398 363 761 306 pliy KX 240 241 481 214
U X 79 88 167 69 FIREX 136 131 267 110 BERX 86 83 169 64 T #H X 87 112 199 68
FIHTER 154 134 288 118 TREX 118 138 256 111 B B X 235 228 463 197
& X | 1,037 1,107 2,144| 1,012 mE X 188 200 388 140 X 5t | 2,842 2,890| 5,6732| 2,364
B8 & X | 1,134 1,179 2,313 1,010 % FXRERX 232 258 490 192 X &t | 2,700 2,672| 5,372 2,114 5 = 853 884 1,737 741
B X 1,121 1,123 2,244 925 XILERK 394 493 887 446 - £ B 330 354 684 297
mEeE X 856 916 1,772 872 FERX 310 304 614 244 REHFHEK 272 265 537 20007 = % 120 114 234 116
EHHRKX 516 509 1,025 547 === 174 164 338 120 & 1y i =3 132 149 281 124 % R 319 338 657 328
T#HHRK 127 151 278 131 TERX 306 328 634 257 ORI =3 416 398 814 345[s= | Al [£3] 859 975| 1,834 746
F #® X 830 871 1, 701 7126 FIFERX 615 677| 1,292 493 =l 133 131 264 97
B BFERX 205 193 398 175 & THFEX 456 459 915 419|% &/ K 312 345 657 270 X 5t | 2,481| 2,665 5,146| 2,228
EE K 545 566 1, 111 483|7  HEBE X 191 172 363 133 & X 170 182 352 141 JE # 1 78 92 170 74
ERF X 485 480 965 419 A X 76 89 165 68 5 #h X 118 142 260 119 E B 270 341 611 321
AR X 421 412 833 326 i K& X |1,480 1,495| 2,975 1,454 #& 0 182 204 386 153
2 E X 203 263 466 231 H X £+ | 3,196| 3, 413| 6,609| 2, 733 " Er R 58 53 111 BIE 2K 64 66 130 56
ZE R 4t BT 43 36 79 31 === 34 37 1Al 41
I = 63 68 131 57 (= 285 260 545 216 H X &t | 3,091 3,160/ 6, 251| 2, 803 N H B #§ 75 67 142 68
FoERRX 791 798 1,589 662 F }FORX 3717 373 750 298 = ¥ B 28 32 60 38
TFREX 215 242 457 176 SH 7 1 8 7
H X Et |14,575/15,276] 29, 851|13,510 B J\F X 146 139 285 115
X 5t 738 840| 1,578 758
X 5+ | 1,023| 1,014| 2,037 805 FEIFAEt | 32,086|33, 450| 65, 536/ 28, 473




